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6H�KDFH�FRQVWDU�TXH�QR�IXH�SRVLEOH�HIHFWXDU�OD�QRWLILFDFLyQ�SHUVRQDO�GH�OD�5HVROXFLyQ�1R�������GH�
�� GH�PDU]R� GH� ���� ³3RU� OD�FXDO�VH� UHVXHOYHQ�VROLFLWXGHV�GH�QXOLGDG�GH� OR�DFWXDGR��DUFKLYR�GHO�
H[SHGLHQWH� \� FRQVWLWXFLyQ� FRPR� WHUFHUR� LQWHUHVDGR� \� VH� GLVSRQHQ� GH� RWUDV� RUGHQHV� GHQWUR� GHO�
WUiPLWH� DGPLQLVWUDWLYR� GH� UHYRFDWRULD� GLUHFWD� GH� WLWXODFLyQ� GH� EDOGtRV� GH� TXH� WUDWD� OD� /H\� ���� GH�
������ D� WUDYpV� GHO� SURFHGLPLHQWR� ~QLFR� SDUD� OD� LPSOHPHQWDFLyQ� GH� ORV� SODQHV� GH� RUGHQDPLHQWR�
VRFLDO� GH� OD� SURSLHGDG� UXUDO´�� SURIHULGR� SRU� OD� 6XEGLUHFFLyQ� GH� $FFHVR� D� 7LHUUDV� HQ� =RQDV�
)RFDOL]DGDV� GH� OD� $JHQFLD� 1DFLRQDO� GH� 7LHUUDV� D� 8EDOGR� +HUUHUD� )DMDUGR�� FRQ� &pGXOD� GH
&LXGDGDQtD�1R�����������

/R� DQWHULRU� HQ� UD]yQ� D TXH PHGLDQWH� UDGLFDGR� �������������� IXH� UHPLWLGD� OD� FLWDFLyQ� SDUD� OD�
QRWLILFDFLyQ� GH� OD� UHVROXFLyQ� HQ� FRPHQWR�� OD� FXDO� IXH� UHSRUWDGD� FRPR� 12� (;,67(� 1Ò0(52
FRQIRUPH�D�OD�*XtD�GH�HQYtR�5$���������&2 GH�OD�HPSUHVD�GH�PHQVDMHUtD������

3RU�OR�DQWHULRU��HQ�DWHQFLyQ�D�OR�GLVSXHVWR PHGLDQWH�'HFUHWR�����GHO����GH�PDU]R�GH����� \ HQ�HO�
DUWtFXOR� ��� GH� OD� OH\� ����� GH� �����&yGLJR� 3URFHGLPLHQWR� $GPLQLVWUDWLYR� \� GH� OR� FRQWHQFLRVR�
DGPLQLVWUDWLYR���VH SURFHGH�D�QRWLILFDU�HO�UHIHULGR�DFWR�DGPLQLVWUDWLYR�PHGLDQWH�$9,62 HQ�OD�SiJLQD�
ZHE� GH� OD� $17�ZZZ�DJHQFLDGHWLHUUDV�JRY�FR \� HQ� XQ� OXJDU� GH� DFFHVR� DO� S~EOLFR� GH� OD� HQWLGDG���
DGMXQWDQGR� XQD� FRSLD� GHO� UHIHULGR� DFWR GHMDQGR� FRQVWDQFLD� TXH� FRQWUD� HVWH� 12� 352&('(�
5(&8562�VHJ~Q�OR�DQRWDGR�HQ�HO�DUWtFXOR�QRYHQR GH�OD�PHQFLRQDGD�UHVROXFLyQ��

(Q�FRQVHFXHQFLD��VH�ILMD�HO�SUHVHQWH�$9,62 HQ�OD�SiJLQD�HOHFWUyQLFD�D�SDUWLU�GH�KR\����GH�DJRVWR�
GH����� D�ODV���KRUDV��HQ�OD�FLXGDG�GH�%RJRWi�'�&� SRU�HO�WpUPLQR�GH�FLQFR�����GtDV�KiELOHV��TXH�
YHQFHQ�HO�GtD ���GH�DJRVWR�D�ODV������S�P�
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